Supplemental Table S2	                             *Indicates experiment shown in Figures.

	Table S2A. Effect of ced-3 allele strength on ER stress resistance 

	ced-3
allele
	Repeat #
	Tunicamycin
(µg/mL)
	Genotype
	Fraction developing to L4 ± SD
	N
	P vs. 
control
	P vs. pgrn-1

	n717 
	1*
	0 
	Control
	1.00 ± 0.02
	N = 150
	--
	--

	
	
	
	pgrn-1
	1.00 ± 0.04
	N = 150
	n.s.
	--

	
	
	
	ced-3
	1.00 ± 0.07
	N = 150
	n.s.
	n.s.

	
	
	
	pgrn-1; ced-3
	1.00 ± 0.05
	N = 150
	n.s.
	n.s.

	
	
	1 
	Control
	0.08 ± 0.04
	N = 150
	--
	--

	
	
	
	pgrn-1
	0.72 ± 0.04
	N = 150
	P < 0.001
	--

	
	
	
	ced-3
	0.71 ± 0.10
	N = 150
	P < 0.001
	n.s.

	
	
	
	pgrn-1; ced-3
	0.69 ± 0.07
	N = 150
	P < 0.001
	n.s.

	
	
	5 
	Control
	0.14 ± 0.01
	N = 150
	--
	--

	
	
	
	pgrn-1
	0.47 ± 0.02
	N = 150
	P < 0.001
	--

	
	
	
	ced-3
	0.47 ± 0.02
	N = 150
	P < 0.001
	n.s.

	
	
	
	pgrn-1; ced-3
	0.51 ± 0.06
	N = 150
	P < 0.001
	n.s.

	 
	2
	0 
	Control
	1.00 ± 0.00
	N = 150
	 --
	--

	
	
	
	pgrn-1
	1.00 ± 0.07
	N = 150
	n.s.
	--

	
	
	
	ced-3
	1.00 ± 0.02
	N = 150
	n.s.
	n.s.

	
	
	
	pgrn-1; ced-3
	1.00 ± 0.07
	N = 150
	n.s.
	n.s.

	
	
	1 
	Control
	019 ± 0.05
	N = 150
	--
	--

	
	
	
	pgrn-1
	0.80 ± 0.05
	N = 150
	P < 0.001
	--

	
	
	
	ced-3
	0.93 ± 0.14
	N = 150
	P < 0.001
	n.s.

	
	
	
	pgrn-1; ced-3
	0.88 ± 0.04
	N = 150
	P < 0.001
	n.s.

	
	
	5 
	Control
	0.19 ± 0.07
	N = 150
	--
	--

	
	
	
	pgrn-1
	0.56 ± 0.05
	N = 150
	P < 0.001
	--

	
	
	
	ced-3
	0.53 ± 0.18
	N = 150
	P < 0.001
	n.s.

	
	
	
	pgrn-1; ced-3
	0.51 ± 0.03
	N = 150
	P < 0.001
	n.s.

	
	3
	0
	Control
	1.00 ± 0.10
	N = 150
	 --
	--

	
	
	
	pgrn-1
	1.00 ± 0.04
	N = 150
	n.s.
	--

	
	
	
	ced-3
	1.00 ± 0.08
	N = 150
	n.s.
	n.s.

	
	
	1
	Control
	0.15 ± 0.05
	N = 150
	--
	--

	
	
	
	pgrn-1
	0.69 ± 0.15
	N = 150
	P < 0.001
	--

	
	
	
	ced-3
	0.70 ± 0.12
	N = 150
	P < 0.001
	n.s.

	
	
	2
	Control
	0.03 ± 0.02
	N = 150
	--
	--

	
	
	
	pgrn-1
	0.17 ± 0.06
	N = 150
	P < 0.001
	--

	
	
	
	ced-3
	0.35 ± 0.09
	N = 150
	P < 0.001
	n.s.

	
	
	
	
	
	
	
	

	Allelic series
	1*
	0
	Control
	1.00 ± 0.01
	N = 100
	 --
	--

	
	
	
	ced-3(n717)
	1.00 ± 0.03
	N = 150
	n.s.
	--

	
	
	
	ced-3(n1949)
	1.00 ± 0.10
	N = 150
	n.s.
	--

	
	
	
	ced-3(n2436)
	1.00 ± 0.03
	N = 150
	n.s.
	--

	
	
	
	ced-3(n2438)
	1.00 ± 0.02
	N = 150
	n.s.
	

	
	
	2
	Control
	0.01 ± 0.01
	N = 150
	--
	--

	
	
	
	ced-3(n717)
	0.46 ± 0.02
	N = 150
	P < 0.001
	--

	
	
	
	ced-3(n1949)
	0.45 ± 0.07
	N = 150
	P < 0.001
	--

	
	
	
	ced-3(n2436)
	0.39 ± 0.05
	N = 150
	P < 0.001
	--

	
	
	
	ced-3(n2438)
	0.12 ± 0.05
	N = 150
	P < 0.01
	

	
	
	5
	Control
	0.00 ± 0.00
	N = 150
	--
	--

	
	
	
	ced-3(n717)
	0.13 ± 0.03
	N = 150
	P < 0.01
	--

	
	
	
	ced-3(n1949)
	0.09 ± 0.04
	N = 150
	n.s.
	--

	
	
	
	ced-3(n2436)
	0.00 ± 0.00
	N = 150
	n.s.
	--

	
	
	
	ced-3(n2438)
	0.00 ± 0.00
	N = 150
	n.s.
	

	
	2
	0
	Control
	1.00 ± 0.01
	N = 150
	 --
	--

	
	
	
	ced-3(n717)
	1.00 ± 0.03
	N = 150
	n.s.
	--

	
	
	
	ced-3(n1949)
	1.00 ± 0.06
	N = 150
	n.s.
	--

	
	
	
	ced-3(n2436)
	1.00 ± 0.06
	N = 150
	n.s.
	--

	
	
	
	ced-3(n2438)
	1.00 ± 0.03
	N = 150
	n.s.
	

	
	
	5
	Control
	0.01 ± 0.14
	N = 150
	--
	--

	
	
	
	ced-3(n717)
	0.14 ± 0.03
	N = 150
	P < 0.01
	--

	
	
	
	ced-3(n1949)
	0.07 ± 0.02
	N = 150
	n.s.
	--

	
	
	
	ced-3(n2436)
	0.03 ± 0.01
	N = 150
	n.s.
	--

	
	
	
	ced-3(n2438)
	0.00 ± 0.00
	N = 150
	n.s.
	



	Table S2B.  Effect of ced-3(n717) mutation on heat and osmotic stress resistance

	Treatment
	Repeat #
	Genotype
	Mean survival ± SD
	N
	P vs. 
control

	Osmotic Stress
	1*
	Control
	0.65 ± 0.06
	N = 17
	--

	
	
	ced-3
	0.92 ± 0.005
	N = 23
	0.04

	
	2
	Control
	0.29 ± 0.10
	N = 80
	--

	
	
	ced-3
	0.08 ± 0.05
	N = 80
	P < 0.005

	
	
	
	
	
	

	Thermotolerance
	1*
	Control
	0.22 ± 0.07
	N = 60
	--

	
	
	ced-3
	0.5 ± 0.1
	N = 60
	0.08

	
	2*
	Control
	0.33 ± 0.02
	N = 60 
	--

	
	
	ced-3
	0.48 ± 0.07
	N = 60
	0.09

	
	3*
	Control
	0.03 ± 0.016
	N = 60
	--

	
	
	ced-3
	0.18 ± 0.09
	N = 60
	0.17



	Table S2C.  ER stress resistance of ced-9(n1950gf) mutants

	Repeat #
	Tunicamycin
(µg/mL)
	Genotype
	Fraction developing to L4 ± SD
	N
	P vs. 
control
	P vs. 
pgrn-1
	P vs.
ced-3

	1*
	0 
	Control
	1.00 ± 0.00
	N = 100
	--
	--
	--

	
	
	pgrn-1
	1.00 ± 0.00
	N = 100
	n.s.
	--
	--

	
	
	ced-3(n717)
	1.00 ± 0.09
	N = 100
	n.s.
	n.s.
	--

	
	
	ced-9(n1950)
	1.00 ± 0.06
	N = 100
	n.s.
	n.s.
	n.s.

	
	
	pgrn-1; ced-9
	1.00 ± 0.01
	N = 100
	n.s.
	n.s.
	n.s.

	
	
	ced-9; ced-3
	1.00 ± 0.03
	N = 150
	n.s.
	n.s.
	n.s.

	
	2.5
	Control
	0.03 ± 0.01
	N = 100
	--
	--
	--

	
	
	pgrn-1
	0.31 ± 0.04
	N = 100
	P < 0.001
	--
	--

	
	 
	ced-3(n717)
	0.53 ± 0.00
	N = 100
	P < 0.001
	P < 0.001
	--

	
	
	ced-9(n1950)
	0.66 ± 0.02
	N = 150
	P < 0.001
	P < 0.001
	P < 0.05

	
	
	pgrn-1; ced-9
	0.89 ± 0.03
	N = 150
	P < 0.001
	P < 0.001
	P < 0.001

	
	
	ced-9; ced-3
	0.64 ± 0.04
	N = 100
	P < 0.001
	P < 0.001
	n.s.

	
	5
	Control
	0.00 ± 0.00
	N = 100
	--
	--
	--

	
	
	pgrn-1
	0.48 ± 0.01
	N = 100
	P < 0.001
	--
	--

	
	
	ced-3(n717)
	0.58 ± 0.03
	N = 100
	P < 0.001
	n.s
	--

	
	
	ced-9(n1950)
	0.63 ± 0.01
	N = 100
	P < 0.001
	P < 0.05
	n.s.

	
	
	pgrn-1; ced-9
	0.60 ± 0.11
	N = 150
	P < 0.001
	n.s.
	n.s.

	
	
	ced-9; ced-3
	0.51 ± 0.09
	N = 150
	P < 0.001
	n.s.
	n.s.

	2
	0 
	Control
	1.00 ± 0.00
	N = 100
	--
	--
	--

	
	
	pgrn-1
	1.00 ± 0.06
	N = 100
	n.s.
	--
	--

	
	
	ced-3(n717)
	1.00 ± 0.01
	N = 100
	n.s.
	n.s.
	--

	
	
	ced-9(n1950)
	1.00 ± 0.03
	N = 100
	n.s.
	n.s.
	n.s.

	
	
	pgrn-1; ced-9
	1.00 ± 0.04
	N = 100
	n.s.
	n.s.
	n.s.

	
	
	ced-9; ced-3
	1.00 ± 0.00
	N = 100
	n.s.
	n.s.
	n.s.

	
	2.5
	Control
	0.53 ± 0.07
	N = 100
	--
	--
	--

	
	
	pgrn-1
	0.91 ± 0.11
	N = 100
	P < 0.001
	--
	--

	
	 
	ced-3(n717)
	0.81 ± 0.10
	N = 100
	P < 0.001
	n.s.
	--

	
	
	ced-9(n1950)
	1.04 ± 0.13
	N = 100
	P < 0.001
	n.s.
	P < 0.01

	
	
	pgrn-1; ced-9
	0.70 ± 0.06
	N = 100
	P < 0.001
	n.s.
	P < 0.01

	
	
	ced-9; ced-3
	0.90 ± 0.06
	N = 100
	P < 0.001
	n.s.
	n.s.

	
	5
	Control
	0.27 ± 0.13
	N = 100
	--
	--
	--

	
	
	pgrn-1
	0.79 ± 0.00
	N = 100
	P < 0.001
	--
	--

	
	
	ced-3(n717)
	0.61 ± 0.01
	N = 100
	P < 0.001
	P < 0.05
	--

	
	
	ced-9(n1950)
	0.68 ± 0.04
	N = 100
	P < 0.001
	n.s.
	n.s.

	
	
	pgrn-1; ced-9
	0.48 ± 0.04
	N = 100
	P < 0.001
	n.s.
	n.s.

	
	
	ced-9; ced-3
	0.56 ± 0.03 
	N = 100
	P < 0.001
	P < 0.01
	n.s.



	Table S2D.  ER stress resistance of ced-4(n1162lf) and ced-4(n1162lf) ced-9(n2812lf) mutants

	Repeat #
	Tunicamycin
[bookmark: _GoBack](µg/mL)
	Genotype
	Fraction developing to L4 ± SD
	N
	P vs. 
control
	P vs. 
pgrn-1
	P vs.
ced-4

	1
	0 
	Control
	1.00 ± 0.00
	N = 100
	--
	--
	--

	
	
	pgrn-1
	1.00 ± 0.00
	N = 100
	n.s.
	--
	--

	
	
	ced-4
	1.00 ± 0.04
	N = 150
	n.s.
	n.s.
	--

	
	
	ced-4 ced-9
	1.00 ± 0.01
	N = 100
	n.s.
	n.s.
	n.s.

	
	2.5
	Control
	0.03 ± 0.01
	N = 100
	--
	--
	--

	
	
	pgrn-1
	0.31 ± 0.04
	N = 100
	P < 0.001
	--
	--

	
	 
	ced-4
	0.33 ± 0.04
	N = 150
	P < 0.001
	n.s.
	--

	
	
	ced-4 ced-9
	0.29 ± 0.09
	N = 100
	P < 0.001
	n.s.
	n.s.

	
	5
	Control
	0.00 ± 0.00
	N = 100
	--
	--
	--

	
	
	pgrn-1
	0.48 ± 0.01
	N = 100
	P < 0.001
	--
	--

	
	
	ced-4
	0.00 ± 0.00
	N = 150
	P < 0.05
	P < 0.001
	--

	
	
	ced-4 ced-9
	0.04 ± 0.01
	N = 100
	P < 0.05
	P < 0.001
	n.s.

	2
	0 
	Control
	1.00 ± 0.00
	N = 100
	--
	--
	--

	
	
	pgrn-1
	1.00 ± 0.06
	N = 100
	n.s.
	--
	--

	
	
	ced-4 ced-9
	1.00 ± 0.00
	N = 100
	n.s.
	n.s.
	--

	
	2.5
	Control
	0.53 ± 0.07
	N = 100
	--
	--
	--

	
	
	pgrn-1
	0.91 ± 0.11
	N = 100
	P < 0.001
	--
	--

	
	
	ced-4 ced-9
	0.55 ± 0.03
	N = 100
	n.s.
	P < 0.001
	--

	
	5
	Control
	0.27 ± 0.13
	N = 100
	--
	--
	--

	
	
	pgrn-1
	0.79 ± 0.00
	N = 100
	P < 0.001
	--
	--

	
	
	ced-4 ced-9
	0.34 ± 0.01
	N = 100
	n.s.
	P < 0.001
	--

	3*
	0
	Control
	1.00 ± 0.012
	N = 150
	--
	--
	--

	
	
	pgrn-1
	1.00 ± 0.035
	N = 150
	n.s.
	--
	--

	
	
	ced-4
	1.00 ± 0.042
	N = 150
	n.s.
	n.s.
	--

	
	
	ced-4 ced-9
	1.00 ± 0.031
	N = 150
	n.s.
	n.s.
	n.s.

	
	2
	Control
	0.24 ± 0.031
	N = 150
	--
	--
	--

	
	
	pgrn-1
	0.87 ± 0.081
	N = 150
	P < 0.001
	--
	--

	
	
	ced-4
	0.11 ± 0.012
	N = 150
	n.s.
	P < 0.001
	--

	
	
	ced-4 ced-9
	0.71 ± 0.060
	N = 150
	P < 0.001
	P < 0.05
	P < 0.001

	
	5
	Control
	0.05 ± 0.042
	N = 150
	--
	--
	--

	
	
	pgrn-1
	0.72 ± 0.058
	N = 150
	P < 0.001
	--
	--

	
	
	ced-4
	0.00 ± 0.00
	N = 150
	n.s.
	P < 0.001
	--

	
	
	ced-4 ced-9
	0.23 ± 0.023
	N = 150
	P < 0.05
	P < 0.001
	P < 0.01
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